22710-Const(FWE)-2020-22-Approved Master_C -Answer Key

1. BT @ AT TGATT FAF (@I
R =32
Ans: 27

2. FFAE-6, 2022-9 FFfe @« e
Reieerel o 2@ ?
Ans: TeIAW

3. gl SO« fwffie @in areites
oR7e ?
Ans: qIerZlq

4. e @ e A=Y AfoweT kEe ¢
Ans: 2R

5. FEe @i areiee [ sifaw @22
Ans: QlerZlq
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1. Frafafed F=e T THH Teaves 61
7
Ans: faeR

2. TRg3TR-HTd, 2022 W1 Fafeiad e Teemt
faumaen fratem vquan for?
Ans: ST

3. eRHAEYH ARaaeh faferied reite s
Frafeerd ©7?
Ans: TSTEATH

4. Fofafed FF=me Toaw @1 15 geaen
ST ©?

Ans: HERY

5. fafafed Fr=ne Tsam faum aieg $91?
Ans: TSTEAH
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6. 1853 At 2249 @e19ie e @ ey
Bifore grfes ¢
Ans: 2R

7. R SR AR NS (@ B (AT SR
ST VI 3 A, (TG [ F 1o (i Aesore

CRIECEPGH
Ans: g4

8. @ ey fGufes 2 v ey s =312
Ans: @

9. fFmfRe @ At SreEe Wi SR
JRe?
Ans: qQlerZlq

10. I SIS 2bfeTe TerRwid! A8 IO A
T T 2

Ans: e

6. 1853 WIeTHT HI=le TaHl Gfeell Ueh
CTCITETohl LTI TR for=i?
Ans: HeRY

7. TR el SR A THER. YEIGH
3 ST Ao FHAfarad 7 T STafed B7?

Ans: T9&R

8. FIEIE ToICTE favSH TR AREUS TTH!
Tifed “uet 27
Ans: fagR

9. frofafed F=fe U= &t STTIR FelT=T
el 212

Ans: TSTEAM

10. TTET T FfTd FAGERIN aee & HT
graf-a forn?

Ans: GATEEAT



11. S5 7 s @« R o samies
Ty (IITRE ST TS B 2

Ans: St

12. 3ES FAGHED o T o406 [e1 Do
ez TIfFe et e

Ans: RERa<=I

13. ‘Bull and Bear’ €3 *[%<&{s fNH{eRe Je=
3 A 2

Ans: S<qife

14, ‘GIEEVRY FET (& o FCARE 2
Ans: SECFE TP 7S

15. 712G wnites amEi e e
Ans: HNOj;
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11. e S Frafafed g foawm dmmeren
T Aol YRR Taeh fora?
Ans: ST

12. SIS SR g1 U9 TR gerere foet o 4n
Traf-ed forar?

Ans: To=aR-=gaeen

13. ‘Bull and Bear’ 915 &g frafaifaa & €7
TE4d B?
Ans: 1eIfq

14. ‘ToATEaY e’ Sl 9T hdel e fw?
Ans: HIgeheT HYHST <

15. refesh Tfag 1 W Hehd o 8172
Ans: HNOj;
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16. SRIf5E il (@ 40ig A AT 2 16. TSifiTeR AN F=E o G gty 52
Ans: (@4 Ans: &

17. [T SN FIE 7] = 2 17. ‘STTeTeR! 3TeReR’ S e a7
Ans: O W Ans: BHT WE

18. M’ faxfiiie @9 @Ewa Siema Srizge ? 18. ‘foq’ gu fafafeaa Fr=fe TwrH g a2

Ans: TR A5 Ans: IdeR 98 (Deciduous Tree)
19. SERFSF (A WA @i a7 Tesife? 19. 3THIHUSHATS I U 7St FAANE &2
Ans: @ Ans: T

20. (I *2F SRS INCIBI e T 2wt 2 20. FHIAIE IR R AR TR UG forin?
Ans: SREVIW Ans: 3BHIES




21, SR SE AFED @I SR SRS 2
Ans: (B¥

22. FEAIZA AN AT (@ BfET (A “hew
T2
Ans: ezl

23, e I TSN @i FROE FHa
(RACETT 2
Ans: #7ifet A &

24. 3T *Af6 fFfiiRe Fem Aok a~ifFe ?
Ans: SRS

25. ‘Sunny Days’ (&9 Rpe &0
SIGI 2

Ans: ﬁﬁﬂ RICIREAE
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21. ‘' ERE’ A IR FAANE ST STafeerd
EX
Ans: 3@

22, ToerTE Mk feIE F=nie gamene urg-s?
Ans: HFeRMAT

23, fordie Tt ST el Fereere Hese
Yos?
Ans: @ 9= 5HA

24. FA (Euro) ¥ MUfeTiad o 71 qraf-4d ©7?
Ans: 1eIfq

25, FHdIe UG fohohetal Sifad FarT “Sunny
Days’ &7
Ans: lj:ilvl RIEEEY
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26. Which of the given choices will be the
proper word to fill the blank?

The Chairman is ill and we’ll have to
the meeting for a day.

Ans: put off

27. Which of the given choices will be the
proper word to fill the blank?
Hetold me thathe

movie.
Ans: had finished

watching the

28. Which of the given choices will be the
proper word to fill the blank?

Heisvery good
Ans: at

making stories.

29. What is the opposite word of ‘Plausible’?
Ans: Inplausible

30. What is the opposite word of ‘Frailty’?
Ans: Strength

31. What is the opposite word of ‘Demolish’?
Ans: Build

32. Any part of the following sentence may
have error. Find out which part of the sentence
has an error or no error.

Ram s /senior to / Shyam in school.
Ans: No error

33. Any part of the following sentence may
have error. Find out which part of the sentence
has an error or no error.

Supposing if / it rains / what shall we do?
Ans: Supposing if

34. Any part of the following sentence may
have error. Find out which part of the sentence
has an error or no error.

It was him / who came running / into the
classroom.

Ans: It was him

35. Any part of the following sentence may
have error. Find out which part of the sentence
has an error or no error.

The captain along with his team / are
practicing very hard / for the forthcoming match.

Ans: are practicing very hard.



36. Which of the given choices will be the
proper word to fill the blank?

These medicines are
cold.

Ans: effective

for curing

37. Which of the given choices will be the
proper word to fill the blank?
The salt spray has gradually the
bridge.
Ans: eroded

38. Which of the given choices is synonym of
‘Defer’?
Ans: Postpone

39. Which of the given choices is synonym of
‘Cease’?

Ans: Stop

40. In the following question, some parts in
italics have been jumbled up. You are required
to rearrange these parts, which are labeled P,
Q, R and S to produce the correct sentence.

Inlife,/(P) some rules are,/ (Q) as business,/
(R) they seem almost instinctive, | (S) learnt so
early that.
Ans: QPSR
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41. In the following question, some parts in
italics have been jumbled up. You are required
to rearrange these parts, which are labeled P,
Q, R and S to produce the correct sentence.

Keshab, / (P) left in an aeroplane, | (Q) after
reading a sailing magazine, / (R) had decided,/
(S) to build his own boat nine years earlier.

Ans: RSQP

42. In the following question, some parts in
italics have been jumbled up. You are required
to rearrange these parts, which are labeled P,
Q, R and S to produce the correct sentence.

The concept of death, / (P) that it has been
reduced, /| (Q) as an inevitability, / (R) is so
ancient, / (S) to a cliché.

Ans: QRPS

43. In the following question, some parts in
italics have been jumbled up. You are required
to rearrange these parts, which are labeled P,
Q, R and S to produce the correct sentence.

Today, / (P) in the country,/ (Q) offers the best
connectivity, both, | (R) Kerala, among all states, |
(S) in terms of telecom and data analysis.

Ans: RPQS

44. Choose the correct meaning of the
underlined idiom from the given alternatives.

At a party, he is always in high spirits.
Ans: cheerful
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45. Choose the correct meaning of the 48. Choose the correctly spelt word.
underlined idiom from the given alternatives. Ans: Committee
We should guard against our green-eyed
friends.

Ans: jealous

46. Choose the correct meaning of the

underlined idiom from the given alternatives. 49. Choose the correctly spelt word.

. .o Ans: Scissors
His promotion is on the cards.

Ans: probable

47. Choose the correct meaning of the
underlined idiom from the given alternatives.

He is a little hard of hearing. 50. Choose the correctly spelt word.
Ans: deaf Ans: Bouquet




(11)

51. @ oS ©iw &g sifecacaa i ERRICIS
42 T3 =12l 1 951 40 TG 48 GRS Sifod T4,
sfefba e sferae v 6/

Ans: 100

52, 500G 1 ANCE @ A 1 951 54 fFh 12l
SIS B | F50oA0E WGl A 1951w 36 i «ie
o 540, &fe 9% amE w7 ffaE Soreite &y
o ?

Ans: 20

53. 11 &= @ @ e Febea I3
33 929 @ TI(F6 T5F Ol (ACF 3 %9 909! | M
G E(1E 737 {01 (T 07 (G AW (e 28, O
SA1% BT 9% 739 (G Beaia 9% 9397 (A 1 924
% 27 | Torg o1 I3 o 977 2
Ans: 30

54, T, B S TV 3 I2F S5 91T I3 27 T2
T2 2R B 8 BN 5 IR A 91T 7% 20 9% e |
TN TSN TTH F© A2

Ans: 40

55. @3 e o itz g = et | 5140%
ieolel R a7 =17 300 Siois ©iF itz S=[H1%
2R, LA O (2 FofT S foel 2

Ans: 50
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51. T3 HIKX TMElCl STHE ST TR T<T i
HITR! THARHT AT T 42 foho fHo i1 & 1 =
40 Tie 48 ThreHl qU TS | TH HISX e 39
THIR hfd foho THo Ul wruer 217
Ans: 100

52. T ek 9+ TS 51 1 502 54 fehofHo
1 g T TS | T Tt o, @ el 1 S
36 ferofHo =l T T T8, EIHT Ul =0MHT & 54
i Toe faummn Afes?

Ans: 20

53. 11 9c=ren! fophe goTenl ShTehl S8R 33 9 &
¥ AT foehe fohorR =1t 3 o <ia © | afe <t g
I TRl ST IR SR SIfael TR o, SRt
TSI STEd SH qU SeTeh! ST SHR =T 1 o6 A
9 | Y STkl ST SER i a9 817
Ans: 30

54. 379 3T TS AT, TG TR 37Ed S
27 = fera a1f 5 o e1fer Tt T B o fiEd SR
20 a5 ol | S B IdHE SHR ohfd o9 212
Ans: 40

55. T3 T TefshTehidT Shel HISTHI STE% (Apple)
fori | 38 40% fofsr T ufe, IHRMET 30 =@
3MEwA (Apple) 3T W B | SHSM Ufeen @
Siderel SAEHA (Apple) Tor=i?

Ans: 50
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56. @30 BT @I G0 RS %—aaﬂﬁw
%m@@WIWWW@‘TW?
Ans: 20

57. CIICT @36 T w2 218 sy «ve @I
T34 (I3 60% 11 | @2 5 % wi%l (ofb Aifes

2 s1ely 27 1 W (G (S IBIa 722071 600 2, ST
AT @ Fouk (@Y o iEeET?

Ans: 200

58. fagfefae wSiwaaa x B F =@

4x 162
J128  4x

Ans: 3

59. “Fwew 7Jfqs{ 12 e s 21,36 9 66
il M faetes 2@ |
Ans: 213444

J625 14 44 j
60. X e X =7
[ 11 25 196

Ans: 20

(12)

56. T3 B P T3 HEATETS %ﬁx@m %?{
UM AT o, ekl TedTerT shid Hfqerd Jfe wushl ©?2
Ans: 20

57. % T3 fafeHn, gestn weff 7ed TSR
ST SES HIes 60% 9| R ate . S

%%ﬁzwﬁa‘aﬁmfw | gfe STHAT SfT2ehl Tt 600 ford
W, 37! Teffel shidaer SiEst Yie I ?
Ans: 200

58. TrafeTiag THeromT, x 1 T & TS ?

4x 162
V128 4x

Ans: 3

59. TE<T R quian e o THE S
21, 36 37 66 G 9N 7] T Ted ©7

Ans: 213444

60. (\/625X 14 44 J .
11 25 196

Ans: 20



(13)

61. /00169 x =13 (1, x99 Nd 9 ¢
Ans: 10000

62. 5T =il W=t 8 9Tl i a1 30 ey 40
SRl e 23 | 41 Al i 6 951 Fe e T
e 9% Tetaiafb s Fce AR

Ans: 50

63. @ MfRCF 120 &= =7 At 200 o« B
QR BNz | AW 150 &= 061 DRI R W@ s,
SR SRMG IF IO 7 (A0 AR ?

Ans: 30

64. 180 i rarg Sifom FCo FAET =GR
(A 2 95! @R R ANt | I TR ol sifste fawet
F(F, OF O *NF (AF 1 QOB 7ANF FA A |
AN siferael 96w o Ff?

Ans: 30

65. T %S 450 TIFIF AF 4-5% 2= 71T ]
81 Il 212
Ans: 4
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61. /00169 x =13 3T 94, x I A Hid &7
Ans: 10000

62. 5 92 UHe] Tsh AT 8 5[0l &M T o,

30 feaar user JehetE Wifel T o | el SeheTrs
4 5721 e Yodh TG 6 5191 S| 71 91, ahfd fem
wrfer T Fes?

Ans: 50

63. T3 FTHT 120 ST G&Y Ak =1 200 ST
AHIeEeh! R @H B | Al 150 S AHeee! @l
T ¥4, ST [0 ATHKGETS STeehl WM @I
Tfehs?

Ans: 30

64. 180 foRo o =l T quf TTen! mfiT, THIems
WM 9] 2 0] S1Q] s | AfE FHiee! A1 1fd
TN TG ¥, ITCE TATHHRT | 50 ik o1 |
R 1 I Ffd foho o Wi =roer 212

Ans: 30

65. 450 BT 4-5% ht Ul oTeieh] W TSI
ST i TuHl 81 T 5072
Ans: 4
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66. 92 SIS T G2 AT MW 2 2
6 @R 9 IR AW AR Seoife F© ?
Ans: 2:3

67. 100 TNCSHARGH F© TGN 23 ?

Correct option has not been given. All will
get marks even not attempted.

68. 1018-3 ¢z fagfaifie e 71:4nifb el Faea,
@I 23 7l M e 2@ e
Ans: 40

69. 7% AR W& 1365 | 08! FABE @I
TRANTT 21 Sl FACE ©l9Te 55 @R 9 15
I, (RG] TRAT Fo 2

Ans: 25

70. M 517324 3T 3 @ M fKorsy
G0 TR 2, O * T Foos ofef 7’ Fo 2
Ans: 2

(14)

66. TS THHH HIURU TSl el 6 99 Td
9 FEHT STSTeh! TRHATUTER ST hid 2l 2
Ans: 2:3

67. 100 ST i sRfuferfiet g=?

Correct option has not been given. All will
get marks even not attempted.

68. 1018 71 Frufaifad g=nie e ar 1=
W ANTReTeTE 23 §R1 9%el SfE favree T
Hihs?

Ans: 40

69. TF HEATH ST 1365 B | I&l HEATS 1
HEATeT 9T TR 9, AT 55 TH A%l 15 5o |
I HE@ Hid 22
Ans: 25

70. IS 5174324 TS 3 5R Y01 &9l HF = 94,
Tl + I THT T LA TUEE & g7?
Ans: 2



71. ADER % (A& Foufe biF ereaiiie
wefolel *@1 Ae @O HAE, @AE 2fs s
WY CFAE IR T A2
Ans: 3

72. 5 Number Sequence-rs @sie Fowfe 6
Iz K AT 1 AT 5 8 2 3 YT 9 A ?

263756429613416391569231654321967163
Ans: 3

73. @36 AEHS BOARD 75 53169 @32 NEAR
&1 2416 | (13 A0 NODE F 3(J 2

Ans: 2394

74. T A0S g 940 B 2@ 2
BBCBCDBCDEBCDEFBCDEFGBCDEF
Ans: G

(15)
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71. ADER ¥IsZdTe Ffqael 9R s1aRen! 31equf o1
TS Tl SR Tieh SAILCTS Ueh Ueeh GIfet TAM T4
Tfehs?

Ans: 3

72. Trufafad deamen ST{waH *idae 6 9=
i STHehl 3 13797l 5 T 9fe 3 31Yan 9 q=A
wfch?

263756429613416391569231654321967163
Ans: 3

73. T3 fAfv=a Ighadr BOARD @& 53169
TIE=s 31 NEAR T8 2416 S11E= | F@1 Tehad
NODE @ & Tifa=s?

Ans: 2394

74. TrafafEd Joieh! STIRTH TEdt aul & gie?
BBCBCDBCDEBCDEFBCDEFGBCDEF
Ans: G
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75. I ‘Green’ W= ‘Yellow’, ‘Yellow’ St
‘White’, “White” St ‘Red’, ‘Red’ S “Violet',
“Violet” It ‘Black’ 23, ©(3 NRF A(GF 6 J ?
Ans: Violet

76. qﬁ ‘x7 = ‘+9, 6+’ = 4x” ‘+’ = ‘_9 ﬂq‘a
=R, OE 21 +36-12 X 8 4-AF I T 2
Ans: 50

77. ‘SAVOURY’ *bd g 9ze Afel
Vowel-43 #5708 I 3:31fE 3¢ We o si9ae!
(G o1l 27 @2 2fSf6 Consonant-9 wRsIT 2
32 2T It 2[<8 <l (721 23, S (@ Tl
Fefesfer siext (otet Oits 3 e ietz e e
(ACF TS A, THAWUE (ATF 2167 B FIe
34 AT 2

Ans: Q

78. P i A @ 10 [oR ARem s@fze |
B k™o P Rz 2 b wfEwel sxfze | Q i
B i@ 6 o «iF sy @3k C [ Q R
2 o Tecs wfze 2, e @i fodfs iy g2
FIACIAT A 2

Ans: A,C,P

(16)

75. IS ‘Green’ &l HaeTd “Yellow’, ‘Yellow’ &
et ‘White’, “‘White’ sl Hdeld ‘Red’, ‘Red’ hl
Haetd ‘Violet’, ‘Violet” @l Hdetd ‘Black’ 81 ¥,
Hr=eh! Taaehl T 617

Ans: Violet

76- -qﬁ cx’ — a+a’ 4+a — ‘X,, 4+a — < 3:|-ﬁ-
‘=2 AT 9, 21 + 36— 12 X 8 + 4 I HH A
gis?
Ans: 50

77. A ‘SAVOURY’ &8 HEY HegR A Uik
Vowel @I T Wadt avi TS guidren e
STl ¥ Td T Consonant Fﬂ'§ STUST AOTHTETR
aAfereen JofAr sefer 7= oF, d& T I uTuen
TUTEECTE il SIS ST SHHHT sl <fE ifen
G 9, A 901 =Mie Qe 7 Ra 9= T
@IS?

Ans: Q

78. P fag A fog <@ 10 et afv=mmn stafeerd
©| B fog P fog 3f@ 2 fhex Sfaromn srafted o
Q fog B fag 3f@ 6 e g safe@ s a1 C forg
Q foga®r 2 e I srafe ® WA, Fafafed
FAAIE e forg T=e Wi Wam wHs?

Ans: A,C,P



(17)

79. Tva e sifafwre 1o o2 Praw
syl ZeT—
¥ 2 H21=J>K<L
fra® ¢ (I) K<H
an L>1
Ans: g (1) T Frare A< |

80. Sia MR AfceFee 1t 2 Prarg
e Zo—
I ¢ (1) S>C=0; (1) P<C
% 2 (I) O<P
1) S>P
Ans: $YIE (1) T Frare A< |

81. T @3 IfEfFTea s Fifss mrea =z |
@ =46 Twa Fifebee s Fca
4, 6,10, 16,24, ?
Ans: 34

82. 7FAME I AfCe qe Tiams (A
30 ZI BN O3 (I AT (A 2099 B
0 | O AT B AAfRE I WA TR
(A 3597 FIC A | (R AfRCe (6 Foe 77537
[Egks
Ans: 54
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79. THafeIiE T T ggaa ferd foushl

B

FH : H>1=J>K<L
fr=pd : () K<H
(1) L>1

Ans: @fe (1) =R fpd 3k B

80. frafeTiad seren T+ ggaal ey fauan!

S
FH : () S>C>0; (1) P<C
=g : (1) O<P
(I) S>P

Ans: @fe (1) TR f5hY 3t S|

81. T eI A FZeTHI deh © | Friale HEAe]
Frafafed ggerens uf 74 wes?
4,6, 10, 16, 24, ?
Ans: 34

82. EVREH TS TGfRTHT HAAIS Tife qhae
30 91 TATHI B TS hif¥reh 9 a% <@ 20 a1 T
B | A o gASTET SATHI T STEH-TRH 7= ¥,
TSI ST AhalTe 35 o TATHT IRl 9 | & I ot
ST ohfd ST gy o ?

Ans: 54
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83. S wfkere adfafens A e s
Sl #(% ofge e | GIAT SR *Fore 2fs
e T (@ AR (el g, o e =@ o
e e Fanefe DI 2@, @ kA AR
Al A, GG 21—

H V A R O B E 1 U
1 2 3 4 5 6 7 8 9
Ans: 671328594

84. T foeerafa o<e Has @G 2
IPRIGIGR

(18)

83. frafafaad SR aufeEeTs T YoM Tee
T3 1Yl WA WA e | & Ui SR
W YA vl eNf I HeeE foua ®,
T Sregeh! HEHH T HEATGECTE il o, S
HEATeh! dIfeTehRlelg TS, ™l HE&l 8 —

H V A R O B E 1 U
1 2 3 4 5 6 7 8 9
Ans: 671328594

84. 1 fesush for=t afetenr Wad! fot o g1 7
T afetet ¢

ol Nl | N

AN NV PN VAN

85. Fitoa (redl B A Wy foalG @il
@3 Ieq 7 oIm, 90 G2 Ifed A2 =@ |
2 WA e e |
Ans: 82

85. 1 fogush =Ndel §e 7l e §1 T3
ThTrey STTend © | TS &9 deh 3fE Jifel B | &9
e ot TR |
Ans: 82



